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o P AT B T FF 5 FT-99 7 JET O 7 T Fo7T 35 &7
Please make sure that the printed pages in this question paper are 7 in number and
it contains 35 questions.

® G97-g 4 qlie7 & #l GlIT [/ T4 HS T F HH TA-GikiH d JEI-gT GT [ord)
The Code No. on the right side of the question paper should be written by the
candidate on the front page of the answer-book.
o PUY I F FH GG G BT G Y&, JIT F FHH T 3G
Before beginning to answer a question, its Serial Number must be written.
o JuT-Yiamr & diT 7 @l G/ 9 7 818/
Don’t leave blank page/pages in your answer-book.

o FuTgRaE & SRk g o e T A o sTavmdgar 8 g eiv fiar g T
PIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

o GHHTE Gy Ut To FIT-YH YT e frd
Candidates must write their Roll Number on the question paper.

o U g7 # IFAT 37 § [d TF GARGT F T & J97-99 [T T @& & GO B ITT 59
T § g 4 @ whwre Tl A @
Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after
examination.
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A g97 #F 1 G 3 § G i 8 597 F1 99 T F97 G &

Attempt any two questions from question numbers 1 to 3. Rest are compulsory.
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(2)

¥ 9BR % SR ©iT & 9UE BRI

Explain various types of Biogas plants.

et fafecar @1 8 ? 369 a&]fTS #®1 § ? 38 ABC & U &

What is First Aid ? What are its objectives ? Explain its ABC.

o R & Al daisl & auie S

Explain various water Irrigation techniques.

AT & IR gehl H qUiF HR

Describe various components of Plant nursery.

AR ol & @9 J Bl Jasy)

Give advantages and disadvantages of Solar energy.

fepr® IR FH-fedrs @M W e ford

Write note on Perishable and Non-perishable food.
T 3 W e |

Write note on threading dyes.

TEEE 989 1 & ?

What is Isometric projection ?
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10.

11.

12.

13.

14.

15.

16.
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AR 9ohR & Ui ) e ford

Write note on different types of Pencil.
CIAE T & FGFal H aoF H
Explain elements of Paint colours.

R HAd GHY F1 el o= =y ?

What precautions should be taken while doing Plaster ?

IR & T HT GRIOT B BT S 7 ?

How rain water is harvested ?

U fafy @ ® ?
What is Patch Bonding ?

TR Rz Ry @ B ?

What is Sprinkle Irrigation ?

gggell H T @E THR H AT & A 4 8 7

What are the advantages of giving a particular type of fodder to cattle ?

[ a5 99 |
[ Objective Type Questions ]
FHAT o TR %l BT H IR
Fig is an example of ........... type of cutting.
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18.

19.

20.

21.

22.

23.

24.

25.
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R W G AT I B e g I IoT o 1
Out of drinkable water on earth, only ............ percent is ground water

redt @ pH A7 H 6 BFT ..o RIS 1
A pH value of 6 of soil shows that it is .............. .

T § ST F ST ..o R B FH B & [T Bl B 1
In vegetation, calcium is used to reduce ............ acids

TET & HIEHRE B ST ... framett & fog & & 1
In vegetation, phosphorus is used for ............... processes.

afe Pl @ pHIg 4 &, A 3/ GO & [T ... 1 s ST =Ry 1
If soil has a pH value of 4, then.............. should be mixed to make it usable.
g & =T & . & AT S R 1
Current is measured using .............

AT H AT oo R W TR &3l B 1
Rabies virus attacks ............ system

T &% B STMATEN ...oeo.e.. AR EeE I S 1
First injection was invented by .........

GI UIgW 1 T & ... 2l 1

Full form of GI pipe is ............ .



26.

27.

28.

29.

30.
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(5)
SR BT e JHER % B &l
There are ............. types of geometrical signs.
AL Tbih F FIH 'S’ ... 3l
First 'S' in workshop technology is ............
TR oo TR & Bd ol
(A) 1 (B) 2
€) 3 (D) 4
There are ............ types of plaster.
(A) 1 B) 2
€) 3 (D) 4
RBE e et & #4 & a5te | B ol
(A) C (B) D
€ E (D) F
Rickets is caused due to deficiency of ........... vitamin.
(A) C (B) D
€ E (D) F
1 I FECEGE H coveeennnn fpe B ot AT 2
(A) 2 (B) 3
€ 4 (D) 5
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32.

33.
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(6)
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1 gm of carbohydrate gives ........... kilocalories of energy.

(A) 2 B) 3

C) 4 (D) 5

1| A % FA F B B 1
(A)  SEEH (B) et

(C) wifETH (D) Bfesrem

Goitre is caused due to deficiency of .......... .

(A) Iodine (B) Iron

(C) Sodium (D) Calcium

ARA H Iod Gl BB . a9 § g& gar o 1
(A) 1990 (B) 1994

(C) 2002 (D) 2006

In India, pulse polio program started in ........... year

(A) 1990 B) 1994

(C) 2002 (D) 2006

............ T YAeH T H B HA o 1
(A) T B) faR

(C) e (D) SHHFEE

............. acts as a conductor element.

(A) Iron (B) Silicon

(C) Plastic (D) Germanium



34.

35.
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AC 1 & Bheall ... Hz it &1 1
(A) 10 B) 20

(€) 50 (D) 150

Frequency of an AC signal is ................ Hz.

(A) 10 B) 20

(C) 50 (D) 150

T Al % AR W I B A .. frcfie =iar B 1
(A) 3 B) 13

(C) 103 (D) 203

According to set standards, diameter of rain gauge should be .......... mm

A) 3 (B) 13

(C) 103 (D) 203



